

۱	$\sqrt{2} = 3 \text{ و } \sqrt{2} + 1 = \sqrt{3} \text{ و } 1 > \sqrt{2} \text{ و } \sqrt{2} < 1 \text{ و } \cos \frac{\pi}{4} = \frac{\sqrt{2}}{2} \text{ و } \cos \frac{\pi}{4} = \frac{\sqrt{2}}{2} \text{ و } \cos \frac{\pi}{4} = \frac{\sqrt{2}}{2}$
۲	الف) $\frac{1}{2} = \frac{1}{2} \text{ و } \frac{1}{2} = \frac{1}{2} \text{ و } \frac{1}{2} = \frac{1}{2} \text{ و } \frac{1}{2} = \frac{1}{2}$ ب) $\frac{1}{2} = \frac{1}{2} \text{ و } \frac{1}{2} = \frac{1}{2} \text{ و } \frac{1}{2} = \frac{1}{2} \text{ و } \frac{1}{2} = \frac{1}{2}$
۳	$f\left(\frac{\pi}{2}\right) = \sin \frac{\pi}{2} = 1 \text{ و } \frac{\sqrt{2}}{2} = \frac{\sqrt{2}}{2} \text{ و } \frac{\sqrt{2}}{2} = \frac{\sqrt{2}}{2} \text{ و } \frac{\sqrt{2}}{2} = \frac{\sqrt{2}}{2}$
۴	الف) $\{(1,0), (2,0), (3,0), (4,0)\}$ ب) $\emptyset$ ج) $\{(1,0), (2,0), (3,0), (4,0)\}$ د) $\{(1,0), (2,0), (3,0), (4,0)\}$
۵	$(1,2) \in \{(1,1), (2,2), (3,3), (4,4)\} \Rightarrow a=2$ $(1,1) \in \{(1,1), (2,2), (3,3), (4,4)\} \Rightarrow b=1$ $(1,1) \in \{(1,1), (2,2), (3,3), (4,4)\}$

$$f(f_m) = a(am+b)+b = a^2m+ba+b = f_m+c \Rightarrow a = \pm 1$$

$$\begin{aligned} +1 &\rightarrow b(a+1) = c \rightarrow b(2) = c \rightarrow b = \frac{c}{2} \\ -1 &\rightarrow b(a+1) = c \rightarrow b(-1) = c \rightarrow b = -c \end{aligned}$$

$$f_m = \frac{c}{2}m + 1 \quad \text{or} \quad -cm - c$$

$$\begin{aligned} f(-1)+1 &= -1 & -f(-1) &= c \Rightarrow c = 1 \\ f_m+c &= \pm 1 & f_m &= -c \rightarrow m = \pm 1 \Rightarrow m(-1) = -1 \end{aligned}$$

$$R_f \in \mathcal{P}_2 \quad R_f = [0, \infty) \quad u-f_m = u(m-f) = \begin{pmatrix} 0 \\ f \end{pmatrix}$$

$$D_2 = \mathbb{R} - \{0, f\} \quad + \left\{ - \right\} + \quad \frac{-b}{fa} \neq \frac{f}{f} = 1 \rightarrow \frac{1}{f-a} = -\frac{1}{f}$$

$$R_2 = [-\frac{1}{f}, \infty)$$

$$D_1 = [-1, 1] \quad D_2 = [0, \infty) \quad D_{f+2} = D_1 \cap D_2 = [-1, 1] \cap [0, \infty) = [0, 1]$$

$$\begin{aligned} \cancel{R_2 = [0, 1]} &\rightarrow D = [0, 1] \rightarrow R_f = [0, 1] \rightarrow D_f = [0, 1] \rightarrow D_{f+2} = [0, 1] \\ R_f \in D_{f+2} & \quad 0 \rightarrow \sqrt{0} + \sqrt{1-0} = 1 \\ & \quad 1 \rightarrow \sqrt{1} + \sqrt{1-1} = 1 \end{aligned}$$

$$u(t-r) = 1+rt \rightarrow m = \frac{1+rt}{t-r} \quad t-m-r = 1+rt \quad t-m-r = 1+rt$$

$$m+c = r\left(\frac{1+rt}{t-r}\right) + c$$

$$\frac{r+1t}{t-r} + \frac{0t-1c}{f-r} = \frac{1t-1c}{t-r} \rightarrow \frac{rm-1}{m-r} \Rightarrow f_m = \frac{rm-1}{m-r}$$

$$\begin{aligned} (m+\frac{1}{n})^r &= m^r - \frac{r}{m} + c(m+\frac{1}{n}) \Rightarrow f_{m+\frac{1}{n}} = (m+\frac{1}{n})^r - r(m+\frac{1}{n}) \\ f_m &= m^r - cm \end{aligned}$$

$$R_1 = 0 \quad 2\sqrt{r} = 0 \quad R_f = \mathcal{P}_2$$

$$R_f = 1 \rightarrow \sqrt{m} = 1 \rightarrow m = 1$$

$$R_f = \sqrt{r} \rightarrow \sqrt{m} = \sqrt{r} \rightarrow m = r$$

$$r-1 \leq 1$$